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About the therapeutic effects of various modalities

of physiotherapy, which of the following pair of

association of mode of therapy and therapeutic

effects is CORRECT?

A. Heat therapy — decreases activity of enzymes that may damage
the joint.

B. Cold therapy — improved blood flow and increased non-
elastic tissue extensibility.

C. Hydrotherapy — improves circulation and reduces edema.

D. lontophoresis — improves circulation with pumping action.

E. Electrical stimulation — produces positive psychological benefits.

About the therapeutic effect of various medications
used in rehabilitation, which of the following pair of
association of symptom or sign and medication is
CORRECT?

A. Spasticity — Baclofen, Carisprodol

Autonomic dysreflexia — Amitryptyline, Capsaicin.
Neuropathic pain — Nifedipine, Hydralazine.

Bladder management — Methyphenidate, Haloperidol
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Psycho-modulation — Oxybutinin, Flavoxate.

About the type of exercise and description or

example, which of the following pair of association of

exercise and description or example is CORRECT?

A. Isokinetic — constant velocity or accommodating resistance
exercise.

B. Open kinetic chain — squats or running.
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Closed kinetic chain — leg press or cycling.

D. Power building exercise — high repetition, low resistance
exercise.

E. Endurance building exercise — low repetition, high resistance

exercise.

About the initial assessment for in-patient
rehabilitation, which of the following is the LEAST
important item?

A. Neurological and musculoskeletal deficits.

Financial status.

Medical co-morbidities.

Cognitive deficits.
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Family dynamics.

Singapore shares a common trend with most
developed countries whereby non-communicable
diseases account for X% of the principal causes of
death. What is X?

A. 60.
B. 65.
C. 70.
D. 75.
E. 80.
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About IADL (Instrumental activity of daily living)
which of the following is an example?

A. Grooming.

B. Toileting.

C. Wheelchair use.

D. Medication use.

E. Climbing stairs.

A patient presents for Eldershield assessment. He
has a stroke requiring only minimal assistance with
dressing of the upper body, such as wearing a shirt,
but requires moderate assistance in dressing of the
lower body, such as the wearing of trousers. What
should the score be for dressing?

A. Independence.

Minimal assistance required.

Moderate assistance required.

Maximal assistance required.
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Total assistance required.

A patient with advanced rheumatoid arthritis
presents for Eldershield assessment. He requires
maximal assistance in the morning in eating
because of early morning stiffness and fatigue, but
subsequently performs better in the evening. What
should the score be for feeding?

A. Independence.

Minimal assistance required.

Moderate assistance required.

Maximal assistance required.
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Total assistance required.

A patient presents for Eldershield assessment. He
has a stroke requiring only minimal assistance to
move from bed to chair, but requires moderate
assistance to move from chair to bed. What should
the score be for mobility?

A. Independence.

Minimal assistance required.

Moderate assistance required.

Maximal assistance required.
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Total assistance required.

A patient presents for Eldershield assessment. He
has a spinal cord injury with complete paraplegia. He
is able to propel a wheelchair more than 50 meters in
a straight well paved corridor. He lives in a one room
flat which makes it difficult to move his wheelchair
around and maximal assistance is needed. What
should the score be for mobility?

A. Independence.

Minimal assistance required.

Moderate assistance required.

Maximal assistance required.

Total assistance required.
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